(AR

TRIFEXDOREFR (EEE)

(F #F)
(SHTEI0ARBIRE)
1 REHE (BBL:k)
F E

TR0 gggﬁ TR | FRI28ERE

B (%)
5 | K TR 200,773 100.4 200,066 201,624
x| 5| B T - - - -
5 | EEMH 1,343 94.7 1,418 1,315
£ | K TR 1,027 67.7 1,516 1,630
K| B | B - - - -
&t 203,143 100.1 203,000 204,569
ﬁ7 t H 8,826 90.0 9,807 10,575
% x K 22,932 86.0 26,666 34,308

F:1) IUUEOBBRTHENRA—HBLEWVGEEAHYET (UTETORTRL, ).

2) TONFEGITHEIEVED., T-IFEENGVBDERLTOET (LTETOXRTRHELE, ),

2 HiRlREH=E (BARL: b))
oAl
10AXRBEHE|IARBRE| (A)—(B)
| (A) (B)
5 | K FE 200,773 190,064 10,709
x| 5| E T - - -
5 | BEM 1,343 1,343 -
| K T 1,027 1,016 11
K| B | BE - - -
Hi 203,143 192,424 10,719
gl 3 8,826 8,825 1
3
52| X XK 22,932 22,932 -

T EHYELRBERED R T,




3 KIESBBLKDEMAILE

(BRI b, %)

F | BREH= % % A Kk EF£ (%)
F BE (k) 1 = 2 =% 3 %= R

200,773 96.2 2.4 0.3 1.1

30 &£ E
<190,064> <96.5> <2.6> <0.3> 0.7>
200,066 92.9 6.2 0.3 0.6

29 F FE
(200,066) (92.9) (6.2) (0.3) (0.6)
201,624 93.9 5.3 0.6 0.2

28 F E
(201,624) (93.9) (5.3) (0.6) 0.2)
30 — 29 (RAUK) 3.3 -38 0.0 0.5
30 — 28 (ARAK) 2.3 -29 -0.3 0.9

E1) FEEDTEDOEZDHFIL.INEIAXRBRENIETY .
2) 29FERUV28FED LEOHFIL. B (10ARBIRE) DIETT,
3) VFERUVUBEETERD(OEZOHFX. R (BFI10ARKBRE)NDIETT,

4 FLEMMIEHRMAIIRERE OKTEIH5HKX)

(B %)

5 i3 E i BREHE F & A K £ (%)
(k) 1% 2% 3% Rigst
FoLCH | FH 142,699 97.8 2.1 0.1 0.0
oMNBZOTU|F HF 43,917 96.2 3.7 0.1 0.0
EXDEE|F & 8,163 99.3 0.7 - -
HELZEL|FH 1,573 94.9 4.7 0.4 -
FohVYA|FH 155 945 55 - -




